

Graduation

We appreciate your business.

Customer

sarah 832-202-8669 **Invoice Details**

PDF created May 15, 2024

\$341.00

Service date June 3, 2023

Payment

Due May 15, 2024

\$341.00

Items	Quantity	Price	Amount
2 Tier Cake 2 Tier Graduation Cake with 3rd tier being a dummy drum made into a hat.	1	\$175.00	\$175.00
Marble Cake with buttercream icing. Colors: White, Yellow and Blue (School Colors)			
Sugar Cookie Cutouts Diplomas - 8 Grad Hats - 8 Circle w/ Congratulations Edible Image - 8	2	\$30.00	\$60.00
Dipped Rice Krispies	1	\$24.00	\$24.00
Dipped Pretzel Rods	1	\$22.00	\$22.00
Cupcakes Red Velvet and Cream Cheese Icing.	3	\$20.00	\$60.00
Shaped into a K Roughly 36 Cupcakes Needed			
Subtotal			\$341.00

Total Due \$341.00





We appreciate your business.

Customer

Christina Thompson 979-999-9999

Invoice Details

PDF created May 15, 2024 \$50.00

Service date May 27, 2023

Payment

Due May 15, 2024

\$50.00

Items	Quantity	Price	Amount
6" Cake Skye Birthday	1	\$50.00	\$50.00
Subtotal			\$50.00

Total Due \$50.00





We appreciate your business.

Customer

Christina Thompson 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$24.00

Service date May 16, 2023

Payment

Due May 15, 2024

\$24.00

Items	Quantity	Price	Amount
1 Dozen Brownies	1	\$24.00	\$24.00
Subtotal			\$24.00

Total Due \$24.00





We appreciate your business.

Customer

Megan Walla 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$90.00

Service date May 27, 2023

Payment

Due May 15, 2024

\$90.00

Items	Quantity	Price	Amount
Cupcakes 1 Dozen Reeces Cupcakes 1 Dozen Oreo Cupcakes	2	\$30.00	\$60.00
Cookies 1 Dozen PB Cookies 1 Dozen Chocolate Chip Cookies	2	\$15.00	\$30.00
Subtotal			\$90.00

Total Due \$90.00





We appreciate your business.

Customer

Lashanda Tompkins 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$12.00

Service date April 28, 2023

Payment

Due May 15, 2024

\$12.00

Items	Quantity	Price	Amount
Candied Grapes Strawberry Flavor Jolly Rancher Toppings Small Container	1	\$12.00	\$12.00
Subtotal			\$12.00

Total Due \$12.00





We appreciate your business.

Customer

Ruby Estrada 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$16.00

Service date April 28, 2023

Payment

Due May 15, 2024

\$16.00

Items	Quantity	Price	Amount
Candied Grapes Small Container of candied grapes and pineapples	1	\$16.00	\$16.00
Mixed toppings			
Subtotal			\$16.00

Total Due \$16.00





Birthday

We appreciate your business.

Customer

Janet Daniell 979-251-4167 **Invoice Details**

PDF created May 15, 2024 \$80.00

Service date May 13, 2023

Payment

Due May 15, 2024

\$80.00

Items	Quantity	Price	Amount
1/4 Sheet Cake Chocolate Cake	1	\$55.00	\$55.00
O'Fishally One Theme			
6" Smash Cake Strawberry	1	\$25.00	\$25.00
Fishing Luerer			
Subtotal			\$80.00

Total Due \$80.00





We appreciate your business.

Customer Krystal McDade 979-274-9382 Invoice Details
PDF created May 15, 2024
\$20.00
Service date April 22, 2023

Payment

Due May 15, 2024 \$20.00

Items	Quantity	Price	Amount
Candied Grapes Cotton Candy Flavor	1	\$20.00	\$20.00
Med Packaging 10-15 Grapes			
Subtotal			\$20.00

Total Due \$20.00





70Th Birthday

We appreciate your business.

Customer

Tiffany Shannon 979-277-4093 **Invoice Details**

PDF created May 15, 2024

\$85.00

Service date May 6, 2023

Payment

Due May 15, 2024

\$85.00

Items	Quantity	Price	Amount
8" Cake 3 Layer	1	\$85.00	\$85.00
Black and Gold Theme			
Subtotal			\$85.00

Total Due \$85.00





Baby Shower

We appreciate your business.

Customer Genieva Holloway

BSSLC 254-415-8506 **Invoice Details**

PDF created May 15, 2024 \$75.00

Service date May 5, 2023

Payment

Due May 15, 2024

\$75.00

Items	Quantity	Price	Amount
1/4 Sheet Cake Vanilla Almond	1	\$50.00	\$50.00
Oh Baby Emerald Green / Nude / Gold / Sunflower			
6" Smash Cake Chocolate	1	\$25.00	\$25.00
Personal Size for Momma To Be			
Sunflower on top			
Subtotal			\$75.00

Total Due \$75.00





We appreciate your business.

Customer Christa Walker 504-338-9814

Invoice Details PDF created May 15, 2024 \$85.00 Service date April 7, 2023

Payment Due May 15, 2024 \$85.00

Items	Quantity	Price	Amount
Strawberries	1	\$25.00	\$25.00

Milk, white, or colored chocolate with a basic drizzle.

Basic Theme: Simple custom theme, including any lettering or phrases (Additional \$5 per dozen)

Toppings: Sugar Sprinkles, Mixed Nuts, Fruity Pebbles, Oreo, Strawberry Crunch, Coconut, & Chocolate Shavings (Additional \$3 per dozen)

Tipsy Berries: Your choice of Liquor/Wine Infused Berries Dipped in Gourmet Chocolate (Additional \$10 per dozen)

Other additional add ons available: Bling, Fondant Accents, Chocolate Molds, Edible Image

All specifications of your order will be verified upon receipt of placing it. I will call you at the above noted phone number, so please ensure that the number is correct.

8" Cake	1	\$60.00	\$60.00
Butterfly Theme			
Subtotal			\$85.00

Total Due \$85.00





We appreciate your business.

Customer Sharon Stark BSSLC 281-254-3492 Invoice Details

PDF created May 15, 2024 \$100.00

Service date April 29, 2023

Payment

Due May 15, 2024 \$100.00

Items	Quantity	Price	Amount
10" Cake 3 Layer Vanilla Strawberries and Blueberries on top	1	\$75.00	\$75.00
6" Smash Cake Berry 1st Birthday	1	\$25.00	\$25.00
Subtotal			\$100.00

Total Due \$100.00





We appreciate your business.

Customer

Skeet (Angela) 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$70.00

Service date April 22, 2023

Payment

Due May 15, 2024

\$70.00

Items	Quantity	Price	Amount
8" Cake Vanilla Beer shape Cheers to 30 Dylan (Beer and Deer)	1	\$70.00	\$70.00
Subtotal			\$70.00

Total Due \$70.00





We appreciate your business.

Customer

Ashlynn Wied 979-203-1813 **Invoice Details**

PDF created May 15, 2024 \$50.00

Service date April 6, 2023

Payment

Due May 15, 2024

\$50.00

Items	Quantity	Price	Amount
Banana Pudding Cake 9x13 Pan	1	\$50.00	\$50.00
Subtotal			\$50.00

Total Due \$50.00



view.



We appreciate your business.

CustomerQuitta Dickerson
979-200-1996

Invoice Details
PDF created May 15, 2024
\$100.00
Service date April 6, 2023

Payment
Due May 15, 2024

\$100.00

Items	Quantity	Price	Amount
8" Cake Vanilla Crown Apple and Jello Shots	1	\$60.00	\$60.00
Crown Apple 375ml	1	\$17.00	\$17.00
Jello Shots	1	\$23.00	\$23.00
Subtotal			\$100.00

Total Due \$100.00



view.



We appreciate your business.

Customer Ayanna Wooten 979-999-5555 Invoice Details
PDF created May 15, 2024
\$80.00
Service date April 1, 2023

PaymentDue May 15, 2024
\$80.00

Items	Quantity	Price	Amount
8" Cake Pink and Black Boss Baby Cake Vanilla 8" 3 Layer	1	\$80.00	\$80.00
Subtotal			\$80.00

Total Due \$80.00





We appreciate your business.

Customer

Kara Wienken BSSLC 979-286-0175 **Invoice Details**

PDF created May 15, 2024

\$50.00

Service date April 6, 2023

Payment

Due May 15, 2024

\$50.00

Items	Quantity	Price	Amount
Sugar Cookie Cutouts Baseball and Bat	2	\$25.00	\$50.00
Subtotal			\$50.00

Total Due \$50.00





We appreciate your business.

Customer Christina Thompson 979-999-9999 Invoice Details
PDF created May 15, 2024
\$35.00
Service date March 31, 2023

Payment
Due May 15, 2024
\$35.00

Items	Quantity	Price	Amount
Cheesecakes 9"	1	\$35.00	\$35.00
All cheesecakes are made fresh to order. This classic 9" cheesecake has a rich sweet flavor that pairs well with fresh fruit or a warm drizzle of chocolate. Moist and delicious, this delight is perfect for any celebration.			
+ Oreo			
Subtotal			\$35.

Total Due \$35.00





We appreciate your business.

Customer

Ervin 979-555-9955 **Invoice Details**

PDF created May 15, 2024

\$80.00

Service date March 31, 2023

Payment

Due May 15, 2024

\$80.00

Items	Quantity	Price	Amount
Cheesecakes 9"	1	\$35.00	\$35.00
All cheesecakes are made fresh to order. This classic 9" cheesecake has a rich sweet flavor that pairs well with fresh fruit or a warm drizzle of chocolate. Moist and delicious, this delight is perfect for any celebration.			
+ Strawberry			
Cheesecakes 9"	1	\$35.00	\$35.00
All cheesecakes are made fresh to order. This classic 9" cheesecake has a rich sweet flavor that pairs well with fresh fruit or a warm drizzle of chocolate. Moist and delicious, this delight is perfect for any celebration.			
+ Oreo			
Cost Increase	1	\$10.00	\$10.00
Subtotal			\$80.00

Total Due \$80.00





Birthday

We appreciate your business.

Customer

Lashanda Tompkins 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$70.00

Service date March 4, 2023

Payment

Due March 4, 2023

\$70.00

Items	Quantity	Price	Amount
Cupcakes	2	\$35.00	\$70.00
1 Dozen Chocolate 1 Dozen Vanilla			
ZaFarria 11			
Fondant Accents (Make-up & Nail Polish)			
Subtotal			\$70.00

Total Due \$70.00





Anniversary

We appreciate your business.

Customer

Charlisa Gibbs 979-412-4353 **Invoice Details**

PDF created May 15, 2024

\$134.00

Service date March 10, 2023

Payment

Due March 9, 2023

\$134.00

Items	Quantity	Price	Amount
10" 3 Layer Happy 10 Year Anniversary, Now Bend Me Over - Topper	1	\$85.00	\$85.00
Vanilla Flavored Cake			
Infused Strawberries Infused with Patron Decorated to match the Cake	1	\$35.00	\$35.00
Cake Decorations	1	\$14.00	\$14.00
Subtotal			\$134.00

Total Due \$134.00





Tinkerbell Birthday

Thank you for allowing us to bake your event sweet! We appreciate your business.

Customer

Estivaly 979-551-3612 **Invoice Details**

PDF created May 15, 2024 \$235.00

Service date February 19, 2023

Payment

Due February 19, 2023

\$235.00

Items	Quantity	Price	Amount
8" Cake Vanilla Fairies Lined Down Side of Cake	1	\$90.00	\$90.00
Cupcakes See Pictures Below	2	\$25.00	\$50.00
Fondant Accents Rope Border, Cupcake Accents, RKT Accents	1	\$35.00	\$35.00
Chocolate Covered Rice Krispies Sticks and Cutout	2	\$30.00	\$60.00
Subtotal			\$235.00
Total Paid			\$235.00
Payments Feb 26, 2023 (Cash)			\$235.00





Birthday

Thank you for allowing us to bake your event sweet! We appreciate your business.

Customer

Heather Styers heatherstyles83@gmail.com 979-877-4758 **Invoice Details**

PDF created May 15, 2024 \$160.00 Service date March 5, 2023 **Payment**

Due March 5, 2023 \$160.00

Items	Quantity	Price	Amount
6" + 8" Cake Chocolate Paint Party Cake	1	\$125.00	\$125.00
Fondant Accents Paint Pan / Pail	1	\$35.00	\$35.00
Subtotal			\$160.00
Total Paid			\$160.00
Payments Mar 5, 2023 (Cash)			\$160.00





Birthday

Thank you for allowing us to bake your event sweet! We appreciate your business.

Customer

Kristy Collins 979-421-3423 **Invoice Details**

PDF created May 15, 2024 \$150.00

Service date February 25, 2023

Payment

Due February 25, 2023

\$150.00

Items	Quantity	Price	Amount
6" Smash Cake Funfetti Rossette Blush Pink	1	\$35.00	\$35.00
6" + 8" Cake Red Velvet White w/ Gold Polka Dots 2 Flowers and 2 greenery	1	\$115.00	\$115.00
Subtotal			\$150.00
Total Paid			\$150.00
Payments Feb 26, 2023 (Cash)			\$150.00





17th Birthday

Thank you for allowing us to bake your event sweet! We appreciate your business.

Customer

Cristal King 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$150.00

Service date February 7, 2023

Payment

Due February 11, 2023

\$150.00

Items	Quantity	Price	Amount
3D Basketball Cake Chocolate	1	\$60.00	\$60.00
3D TrackShoe Cake Vanilla	1	\$90.00	\$90.00
Subtotal			\$150.00
Total Paid			\$150.00
Payments Feb 26, 2023 (Cash)			\$150.00





Baby Shower

Thank you for allowing us to bake your event sweet! We appreciate your business.

Customer

Estivaly 979-551-3612 **Invoice Details**

PDF created May 15, 2024

\$200.00

Service date February 11, 2023

Payment

Due February 11, 2023

\$200.00

Items	Quantity	Price	Amount
8" Cake 3 Layer Vanilla Cake, Cow print	1	\$60.00	\$60.00
Fondant Accents Rope Border, Name Plate, and Baby w/ Blanket	1	\$35.00	\$35.00
Cupcakes 2 Dozen Cupcakes 18 Vanilla, 6 Chocolate	2	\$20.00	\$40.00
Fondant Accents Cowboy Hat and Cow Faces	2	\$15.00	\$30.00
Sugar Cookie Cutouts Cowboy Themed w/ Royal Icing	1	\$35.00	\$35.00
Subtotal			\$200.00
Total Paid			\$200.00
Payments Feb 26, 2023 (Cash)			\$200.00



view.



Birthday

Thank you for allowing us to bake your event sweet! We appreciate your business.

Customer

Lenora Valdez 979-661-4980 **Invoice Details**

PDF created May 15, 2024 \$60.00

Service date February 1, 2023

Payment

Due February 11, 2023

\$60.00

Items	Quantity	Price	Amount
8" Cake 2 Layers - Blue with Butterflies and Blue Roses	1	\$60.00	\$60.00
Subtotal			\$60.00
Total Paid			\$60.00
Payments Feb 26, 2023 (Cash)			\$60.00





We appreciate your business.

Customer

Christa Walker 504-338-9814 Cypress, Texas **Invoice Details**

PDF created May 15, 2024

\$40.00

Service date February 13, 2023

Payment

Due February 13, 2023

\$40.00

Items	Quantity	Price	Amount
My Guy Box Custom Hat Box (your choice of sport & team) w/ Berries & Small Bottle	1	\$35.00	\$35.00
All specifications of your order will be verified upon receipt of placing it. I will call you at the above noted phone number, so please ensure that the number is correct. Saints Hat Mixed Chocolate Colors			
Extra- 6 Additional Dipped Berries			
Extras	1	\$5.00	\$5.00
Subtotal			\$40.00
Total Paid			\$40.00
Payments			
Feb 11, 2023 (Cash)			\$40.00



view.



We appreciate your business.

Customer

Lenora Valdez 979-661-4980 **Invoice Details**

PDF created May 15, 2024 \$238.00

Service date February 13, 2023

Payment

Due February 13, 2023

\$238.00

Quantity	Price	Amoun
11	\$18.00	\$198.00
2	\$20.00	\$40.00
		\$238.00
		\$238.00
		\$238.00
	11	11 \$18.00



view.



Bryce's Birthday

Thank you for allowing me to bake your event sweet! We appreciate your business.

Customer Cindy Canchola 979-877-8854 Invoice Details
PDF created May 15, 2024
\$252.00
Service date January 21, 2023

Payment
Due May 18, 2024
\$252.00

Items	Quantity	Price	Amount
8" Dinosaur Cake 8" 3 Layer Half Chocolate / Half Vanilla Edible Dino Image Fondant Accents	1	\$70.00	\$70.00
To feed 25 people			
Dino Edible Image	1	\$10.00	\$10.00
Fondant Accents	1	\$15.00	\$15.00
6" Hulk Cake 6" 3 Layer Chocolate Cake Chocolate Ganache Filling Candy Kitkat Barrier Hulk Action Figure To feed 15 people	1	\$60.00	\$60.00
"Happy Birthday Bryce" on Cake Board			
Hulk Action Figure	1	\$17.00	\$17.00
Candy KitKat Barrier	1	\$10.00	\$10.00
Chocolate Ganache Filling	1	\$15.00	\$15.00
Spiderman Face Profile Cake Needed for January 26th 8" 2 Layer Round Cake Carved For Face Profile Chocolate Cake To feed 15 people	1	\$55.00	\$55.00





Subtotal \$252.00

Total Due \$252.00

